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POLYNOMIALS

Textual Examples

1. Look at the graphs in the figures given below.
Each is the graph of y = p(z), where p(x) is a

polynomial. For each of the graphs, find the


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_t8Rqrczb3fKk

number of zeroes of p(x).
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o Watch Video Solution

2. Look at the graphs in the figures given below.
Each is the graph of y = p(z), where p(x) is a

polynomial. For each of the graphs, find the


https://dl.doubtnut.com/l/_t8Rqrczb3fKk
https://dl.doubtnut.com/l/_A75uiCxEUh0P

number of zeroes of p(x).
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o Watch Video Solution

3. Look at the graphs in the figures given below.

Each is the graph of y = p(z), where p(x) is a


https://dl.doubtnut.com/l/_A75uiCxEUh0P
https://dl.doubtnut.com/l/_lkuYD98fWMzH

polynomial. For each of the graphs, find the

number of zeroes of p(x).
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o Watch Video Solution

4. Look at the graphs in the figures given below.

Each is the graph of y = p(z), where p(x) is a


https://dl.doubtnut.com/l/_lkuYD98fWMzH
https://dl.doubtnut.com/l/_VuZyP8h4RgoT

polynomial. For each of the graphs, find the

number of zeroes of p(x).
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° Watch Video Solution

5. Look at the graphs in the figures given below.

Each is the graph of y = p(x), where p(x) is a


https://dl.doubtnut.com/l/_VuZyP8h4RgoT
https://dl.doubtnut.com/l/_urdi2ngNID7P

polynomial. For each of the graphs, find the

number of zeroes of p(x).

o Watch Video Solution

6. Look at the graphs in the figures given below.

Each is the graph of y = p(zx), where p(x) is a


https://dl.doubtnut.com/l/_urdi2ngNID7P
https://dl.doubtnut.com/l/_E7yBPmOo1siB

polynomial. For each of the graphs, find the

number of zeroes of p(x).

o Watch Video Solution

7. Find the zeroes of the quadratic polynomial
z? + 7z + 10, and verify the relationship between

the zeroes and the coefficients.


https://dl.doubtnut.com/l/_E7yBPmOo1siB
https://dl.doubtnut.com/l/_2HTc7zDvVmtv

° Watch Video Solution

8. Find the zeroes of the polynomial z? — 3 and
verify the relationship between the zeroes and the

coefficients.

° Watch Video Solution

9. Find the quadratic polynomial the sum and
product of whose zeroes are —3 and 2,

respectively.

° Watch Video Solution



https://dl.doubtnut.com/l/_2HTc7zDvVmtv
https://dl.doubtnut.com/l/_wBYQj3uAmlTS
https://dl.doubtnut.com/l/_oDqAhFt0uhSQ

1
10. Verify that 3, — 1, — 3 are the zeroes of the
cubic polynomial p(z) = 3z — 5z* — 11z — 3,
and then verify the relationship between the

zeroes and the coefficients.

o Watch Video Solution

11.Divide 2z° + 3z + 1 by z + 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_oDqAhFt0uhSQ
https://dl.doubtnut.com/l/_XAq1PoaspdPO
https://dl.doubtnut.com/l/_W3O7YEoQ8rfz

12.Divide 3z® + 22 + 2z + 5 by 1+ 2z + z2

o Watch Video Solution

13. Divide 3z’ —2z°>—3z+5 by =z —1— z?

and verify the division algorithm.

o Watch Video Solution

14. Find all the zeroes of
2r* — 323 — 322 + 62 — 2, if you know that two

of its zeroes are /2 and — /2.



https://dl.doubtnut.com/l/_cg9E7VVTVyo0
https://dl.doubtnut.com/l/_fyBgbXMcrYBS
https://dl.doubtnut.com/l/_9miU33Aclr2E

‘ o Watch Video Solution

15.The graphs of y = p(x) are given in the figures

below, for some polynomials p(z) :
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Find the number of zeroes of p(x) in each case.

o Watch Video Solution



https://dl.doubtnut.com/l/_9miU33Aclr2E
https://dl.doubtnut.com/l/_XKR7cGxNnsCK

Other Important Examples

1. The graphs of y = p(x) are given in the figures

below, for some polynomials p(z) :

T

L &

Find the number of zeroes of p(x) in each case.

° Watch Video Solution



https://dl.doubtnut.com/l/_myRAFOWE8RVH

2. The graphs of y = p(«x) are given in the figures

below, for some polynomials p(z) :

Find the number of zeroes of p(x) in each case .

° Watch Video Solution



https://dl.doubtnut.com/l/_myRAFOWE8RVH
https://dl.doubtnut.com/l/_HAiifJihXRaH
https://dl.doubtnut.com/l/_mvdKwEi6g5Xp

3. The graphs of y = p(«x) are given in the figures

below, for some polynomials p(z) :

-

Find the number of zeroes of p(x) in each case.

o Watch Video Solution



https://dl.doubtnut.com/l/_mvdKwEi6g5Xp

4., When the polynomial
p(z) = z* + 5z® + 10z + 162 + 7 is divided by
divisor g(z) = z® + 2z + 3, the remainder is

ax + b. Find the values of a and b.

° Watch Video Solution

5. Find the value of a for which the polynomial

3z® + 14z% + 9z + a is divisible by 3z + 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_HAS2f3J0GYuZ
https://dl.doubtnut.com/l/_PWi1n1klezkc

1. The graphs of y = p(z) are given in the figures
below, for some polynomials p(z). Find the

number of zeroes of p(x), in each case.
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° Watch Video Solution



https://dl.doubtnut.com/l/_dp5fdehJgzKT
https://dl.doubtnut.com/l/_Qe0b2tbpJG7r

2. The graphs of y = p(«x) are given in the figures
below, for some polynomials p(z). Find the

number of zeroes of p(x), in each case.

T

° Watch Video Solution



https://dl.doubtnut.com/l/_Qe0b2tbpJG7r

3. The graphs of y = p(«x) are given in the figures
below, for some polynomials p(z). Find the

number of zeroes of p(x), in each case.
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o Watch Video Solution



https://dl.doubtnut.com/l/_dXMrDelHehH6

4.The graphs of y = p(z) are given in the figures
below, for some polynomials p(z). Find the

number of zeroes of p(x), in each case.

° Watch Video Solution



https://dl.doubtnut.com/l/_uNUa5sskfw8M

5. The graphs of y = p(x) are given in the figures
below, for some polynomials p(z). Find the

number of zeroes of p(x), in each case.

o Watch Video Solution



https://dl.doubtnut.com/l/_5PClWFX4vfBu

6. The graphs of y = p(x) are given in the figures
below, for some polynomials p(x). Find the

number of zeroes of p(x), in each case.

TIT ERAEEEEEE
- --: I--?-- - I.- -
i 0 L
1 T | 1
L. —r-l- ----- — -I--— 1
EEEEENENEEESENEES
REREEEuP c HuN ARES
AR AN
B Hol-H-H- S
L = e = [ .L—-—I— —i e e ==
At
SEiSaiedEEicdickied:
- - ! - - —1- -.L - I
. ER
HEsaaiae auaazacs

° Watch Video Solution



https://dl.doubtnut.com/l/_mxwAs9OBzAxS

1. Find the zeroes of the following quadratic
polynomials and verify the relationship between

the zeroes and the coefficients :

z? —2r — 8

° Watch Video Solution

2. Find the zeroes of the following quadratic
polynomials and verify the relationship between
the zeroes and the coefficients :

4s* — 4s + 1

° Watch Video Solution



https://dl.doubtnut.com/l/_AqvLysbkiknH
https://dl.doubtnut.com/l/_TBsTDXvJr35h

3. Find the zeroes of the following quadratic
polynomials and verify the relationship between
the zeroes and the coefficients :

6z — 3 — Tx

o Watch Video Solution

4. Find the zeroes of the following quadratic
polynomials and verify the relationship between
the zeroes and the coefficients :

du? + 8u

‘ ° Watch Video Solution


https://dl.doubtnut.com/l/_TBsTDXvJr35h
https://dl.doubtnut.com/l/_75eNT6KP9GnY
https://dl.doubtnut.com/l/_nvdXQ3Y4shhM

5. Find the zeroes of the following quadratic
polynomials and verify the relationship between
the zeroes and the coefficients :

t2 — 15

o Watch Video Solution

6. Find the zeroes of the following quadratic
polynomials and verify the relationship between
the zeroes and the coefficients :

322 —z — 4



https://dl.doubtnut.com/l/_nvdXQ3Y4shhM
https://dl.doubtnut.com/l/_upX44DngXOz3
https://dl.doubtnut.com/l/_1Dib1r6ViDpd

| @Y Watch Video Solution

7. Find the quadratic polynomial each with the
given numbers as the sum and product of its

zeroes respectively :

1

S
47

o Watch Video Solution

8. Find the quadratic polynomial each with the
given numbers as the sum and product of its

zeroes respectively :

1
2. —
\/_7 3


https://dl.doubtnut.com/l/_1Dib1r6ViDpd
https://dl.doubtnut.com/l/_zscUhQk1DSFo
https://dl.doubtnut.com/l/_AbVhHixxy53s

o Watch Video Solution

9. Find the quadratic polynomial each with the
given numbers as the sum and product of its

zeroes respectively :

0, v/5

° Watch Video Solution

10. Find the quadratic polynomial each with the

given numbers as the sum and product of its


https://dl.doubtnut.com/l/_AbVhHixxy53s
https://dl.doubtnut.com/l/_x0VSX6R1K0fk
https://dl.doubtnut.com/l/_gErJhj6Cu7BF

zeroes respectively :

1,1

° Watch Video Solution

1. Find the quadratic polynomial each with the
given numbers as the sum and product of its

zeroes respectively :

1 1

4’ 4

o Watch Video Solution



https://dl.doubtnut.com/l/_gErJhj6Cu7BF
https://dl.doubtnut.com/l/_hCQ5CnvK9JGc

12. Find the quadratic polynomial each with the
given numbers as the sum and product of its

zeroes respectively :

4,1

° Watch Video Solution

1. Divide the polynomial p(x) by the polynomial

g(z) and find the quotient and remainder in each


https://dl.doubtnut.com/l/_fabhz2Kgy7JC
https://dl.doubtnut.com/l/_xqPY2OCfDKSG

of the following :

p(z) = 2° — 32® + 5z — 3, g(z) = z* — 2

° Watch Video Solution

2. Divide the polynomial p(x) by the polynomial
g(z) and find the quotient and remainder in each

of the following :

p(z) =z* — 32> + 4z +5,g(zx) =2* +1— =2

o Watch Video Solution



https://dl.doubtnut.com/l/_xqPY2OCfDKSG
https://dl.doubtnut.com/l/_OfqUOELeRWkK

3. Divide the polynomial p(z) by the polynomial
g(x) and find the quotient and remainder in each
of the following :

p(z) = z* — bz + 6, g(z) = 2 — z°.

° Watch Video Solution

4. Check whether the first polynomial is a factor of
the second polynomial by dividing the second
polynomial by the first polynomial :

2 — 3,2t + 32 — 26> — 9t — 12

° Watch Video Solution



https://dl.doubtnut.com/l/_Mb6o1mLu2jZO
https://dl.doubtnut.com/l/_jkPKTdoJLRKv

5. Check whether the first polynomial is a factor of
the second polynomial by dividing the second
polynomial by the first polynomial :

z? + 3z + 1, 3z* + 52® — 72?2 + 22 + 2

o Watch Video Solution

6. Check whether the first polynomial is a factor of
the second polynomial by dividing the second
polynomial by the first polynomial :

-3z +1,2° — 42’ + 22+ 3z + 1

‘ ° Watch Video Solution


https://dl.doubtnut.com/l/_jkPKTdoJLRKv
https://dl.doubtnut.com/l/_jovYVoh6C0tU
https://dl.doubtnut.com/l/_g8JbGDCJgO2P

7. Obtain all other zeroes of

3z% + 6x° — 222 — 102 — 5, if two of its zeroes

/5 5
are 3 and _\/§

° Watch Video Solution

8. On dividing > — 32% 4+ 2 + 2 by a polynomial
g(x), the quotient and remainder are x — 2 and

— 2z + 4 respectively. Find g(x).

° Watch Video Solution



https://dl.doubtnut.com/l/_g8JbGDCJgO2P
https://dl.doubtnut.com/l/_b88vTtNDeqsS
https://dl.doubtnut.com/l/_uaZl4QEhyqOo

o. Give examples of polynomials
p(x), g(z),q(x) and r(z), which satisfy the

division algorithm and

deg p(x)= deg q(x)

° Watch Video Solution

10. Give examples of polynomials
p(x), g(x), ¢(z) and r(x), which satisfy the

division algorithm and

degq(x) = degr(x)

° Watch Video Solution



https://dl.doubtnut.com/l/_jX5mkap0ySgl
https://dl.doubtnut.com/l/_G3WSfM74CPjv

11. Give examples of polynomials
p(x), g9(x),q(x) and r(z), which satisfy the
division algorithm and

degr(z) = 0.

° Watch Video Solution

1. Verify that the numbers given alongside of the
cubic polynomials below are their zeroes. Also

verify the relationship between the zeroes and the


https://dl.doubtnut.com/l/_G3WSfM74CPjv
https://dl.doubtnut.com/l/_mXQ6yFILtSMB
https://dl.doubtnut.com/l/_LDLAT4byqoYp

coefficients in each case:

1
m?+#—5w+z§Jﬂ—2

° Watch Video Solution

2. Verify that the numbers given alongside of the
cubic polynomials below are their zeroes. Also
verify the relationship between the zeroes and the
coefficients in each case:

x5 — 4z’ + 5z —2,2,1,1

° Watch Video Solution



https://dl.doubtnut.com/l/_LDLAT4byqoYp
https://dl.doubtnut.com/l/_3dmigZgz8Fxx

3. Find a cubic polynomial with the sum of its
zeroes, sum of the product of its zeroes taken two
at a time, and the product of its zeroes as

2, — 7, — ldrespectively.

° Watch Video Solution

4. If the zeroes of the polynomial

2> — 3z +x+1larea —b,a,a+ b,findaandb.

o Watch Video Solution



https://dl.doubtnut.com/l/_C1Zih4ZrGoSM
https://dl.doubtnut.com/l/_JBPDCXlH60Lv

5. It two zeroes of the polynomial
z* — 62 — 262% + 138z — 35 are 24+ /3, find

other zeroes.

o Watch Video Solution

6. If the polynomial z* — 62> + 1622 — 25z + 10
is divided by another polynomial > — 2z + k, the

remainder comes out to be x + a, find k and a.

o Watch Video Solution



https://dl.doubtnut.com/l/_J2pZUD9vodun
https://dl.doubtnut.com/l/_1s5fDwm4Cgsi

Test Your Skills

1. The graphs of y = p(z) are given in the figures
below, for some polynomials p(x) find the number

of zeroes of p(z) :

o Watch Video Solution



https://dl.doubtnut.com/l/_9kIX5TO9Q1kj
https://dl.doubtnut.com/l/_dZPGcxdnEzBM

2. The graphs of y = p(«x) are given in the figures
below, for some polynomials p(z) find the number

of zeroes of p(z) :

_—

° Watch Video Solution



https://dl.doubtnut.com/l/_dZPGcxdnEzBM

3. The graphs of y = p(«x) are given in the figures

below, for some polynomials p(z) :

o Watch Video Solution



https://dl.doubtnut.com/l/_s3RMJlv5gGUC

4.The graphs of y = p(z) are given in the figures

below, for some polynomials p(z) :
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o Watch Video Solution



https://dl.doubtnut.com/l/_4hoZ62bDN5Ek

5. Find the zeroes of the following quadratic
polynomials and verify the relationship between
the zeroes and the coefficients of the polynomial :

y? — 8y — 20

° Watch Video Solution

6. Find the zeroes of the following quadratic
polynomials and verify the relationship between
the zeroes and the coefficients of the polynomial :

22 + 11z + 15

° Watch Video Solution



https://dl.doubtnut.com/l/_EsRHWBuaGtT8
https://dl.doubtnut.com/l/_9G0WoJbtXM3P

7. Find the zeroes of the following quadratic
polynomials and verify the relationship between
the zeroes and the coefficients of the polynomial :

6x> — 17z + 12

o Watch Video Solution

8. Find the zeroes of the following quadratic
polynomials and verify the relationship between
the zeroes and the coefficients of the polynomial :

2 — 4z — 77

‘ ° Watch Video Solution


https://dl.doubtnut.com/l/_9G0WoJbtXM3P
https://dl.doubtnut.com/l/_LDQ3evPEWVkZ
https://dl.doubtnut.com/l/_NxjlfsVLhWth

9. Find the zeroes of the following quadratic
polynomials and verify the relationship between
the zeroes and the coefficients of the polynomial :

z® + 2,/bx — 15

o Watch Video Solution

10. Find the zeroes of the following quadratic
polynomials and verify the relationship between
the zeroes and the coefficients of the polynomial :

1222 + 172 — 5



https://dl.doubtnut.com/l/_NxjlfsVLhWth
https://dl.doubtnut.com/l/_TyRPmL8hXt0E
https://dl.doubtnut.com/l/_Bn5YDpUClyPy

| @Y Watch Video Solution

1. Find the zeroes of the following quadratic
polynomials and verify the relationship between

the zeroes and the coefficients of the polynomial :

2s® — (1 +2/2)s + /2

o Watch Video Solution

12. Find the zeroes of the following quadratic
polynomials and verify the relationship between

the zeroes and the coefficients of the polynomial :

v* 4+ 4,/3v — 15


https://dl.doubtnut.com/l/_Bn5YDpUClyPy
https://dl.doubtnut.com/l/_dkIiwFRQk3mt
https://dl.doubtnut.com/l/_JrAqtsXM7TaG

o Watch Video Solution

13. Form a quadratic polynomial whose zeroes are

7+ 45 and 7— /5.

o Watch Video Solution

14. Find a quadratic polynomial each with given
numbers as the sum and product of its zeroes

respectively :

1 =5

27 2

o Watch Video Solution



https://dl.doubtnut.com/l/_JrAqtsXM7TaG
https://dl.doubtnut.com/l/_Cml4U3iV4kzC
https://dl.doubtnut.com/l/_J9J02l0zui0S

15. Find a quadratic polynomial each with given
numbers as the sum and product of its zeroes

respectively :

1
\/373

° Watch Video Solution

16. Find a quadratic polynomial each with given
numbers as the sum and product of its zeroes
respectively :

V3

Y2y
2’
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https://dl.doubtnut.com/l/_J9J02l0zui0S
https://dl.doubtnut.com/l/_NESv3P5wrup5
https://dl.doubtnut.com/l/_3FHiyuBnl8Xb

{ = vvaldn viaco >0i1ution ]

17. Find a quadratic polynomial each with given
numbers as the sum and product of its zeroes
respectively :

0, — /10

o Watch Video Solution

3
18. Verify that 1, 2 and 5 are the zeroes of the
cubic polynomial p(z) = 2z° — 9z + 13z — 6.
Then, verify the relationship between the zeroes

and the coefficient of the polynomial.



https://dl.doubtnut.com/l/_3FHiyuBnl8Xb
https://dl.doubtnut.com/l/_aatcrwaBvm21
https://dl.doubtnut.com/l/_OafgQTGR4WmA

o Watch Video Solution

19. I one zero of the polynomial p(z) = z* + a is

— 5, find the value of a and the other zero.

° Watch Video Solution

20. Form a quadratic polynomial whose zero is 5

and the product of zeroes is 15.

o Watch Video Solution



https://dl.doubtnut.com/l/_OafgQTGR4WmA
https://dl.doubtnut.com/l/_r1PMqmNikDTJ
https://dl.doubtnut.com/l/_OloQvGpp8tQU

21. For what value of a, —3 is a zero of the

polynomial p(z) = z* + 122> 4 az + 60?

° Watch Video Solution

22. If the product of the zeroes of the polynomial

p(z) = az? + 11z + 12is 6, find the value of a.

o Watch Video Solution

23.If « and pS are the zeroes of the polynomial

p(x) = 3z? — 14z + 15, find the value of o + B



https://dl.doubtnut.com/l/_DS8y2TEt9k9M
https://dl.doubtnut.com/l/_qpAlCGTdNopj
https://dl.doubtnut.com/l/_kOpJIvS6FbHd

‘ o Watch Video Solution

24. For what value of k, 7 is a zero of the
polynomial p(z) = z* — (5k — 18)z — 35? Also

find the other zero.

o Watch Video Solution

25.If  and B are the zeroes of the polynomial
p(z) = 32> + 11z +a, form a  quadratic

polynomial whose zeroes are 3o and 30.

o Watch Video Solution



https://dl.doubtnut.com/l/_kOpJIvS6FbHd
https://dl.doubtnut.com/l/_1k8RHuhKU49l
https://dl.doubtnut.com/l/_PJ3EcSrA4T3D

26. Without finding the zeroes a and f of the
polynomial p(z) = z? — 5z + 6, find the values of

the following :

1,1
a B

o Watch Video Solution

27. Without finding the zeroes a and S of the
polynomial p(z) = z? — 5z + 6, find the values of

the following :

a? + B2

‘ ° Watch Video Solution


https://dl.doubtnut.com/l/_PJ3EcSrA4T3D
https://dl.doubtnut.com/l/_hMW2QgGxCwAa
https://dl.doubtnut.com/l/_TJ0KIGgcSrvh

28. Without finding the zeroes a and [ of the
polynomial p(z) = z* — 5z + 6, find the values of

the following :

a® + B3,

o Watch Video Solution

29. When the polynomial
p(z) = z° + 22° + kx + 3 is divided by = — 3,

the remainder is 21. Find the value of k and the


https://dl.doubtnut.com/l/_TJ0KIGgcSrvh
https://dl.doubtnut.com/l/_NQ8wB4mV52qu
https://dl.doubtnut.com/l/_CB1Q2QduGtcM

quotient. Hence, find the zeroes of the polynomial

3 + 222 + kx — 18.

° Watch Video Solution

30. Given that /2 is a zero of the polynomial
6> + /222 — 10z — 4+/2, find the other two

zeroes of the polynomial.

° Watch Video Solution

31. Find all the other zeroes of the polynomial

p(z) = 2z* — 923 + 5z® + 3z — 1, if two of its


https://dl.doubtnut.com/l/_CB1Q2QduGtcM
https://dl.doubtnut.com/l/_QaQYS5AESbkT
https://dl.doubtnut.com/l/_DmL7nDnlUFEJ

four zeroes are (2 + 4/3) and (2 — /3).

° Watch Video Solution

32. On dividing the polynomial
3z° + 42 + 5z — 13 by g(x), the quotient is

3z + 10 and the remainder is 16z — 43. Find g(x).

° Watch Video Solution

33. What must be added to polynomial
2> + 9z° — 5z — 15 so that the resulting

polynomial is exactly divisible by 2z 4 37


https://dl.doubtnut.com/l/_DmL7nDnlUFEJ
https://dl.doubtnut.com/l/_NlmNqJzLQmoM
https://dl.doubtnut.com/l/_rZZF4v3peFur

° Watch Video Solution

Practice Thoroughly

1. Find the zeroes of the following quadratic
polynomials by factorisation method and verify
the relationship between the zeroes and the
coefficients of the polynomial :

w2—7a:—|—12

° Watch Video Solution



https://dl.doubtnut.com/l/_rZZF4v3peFur
https://dl.doubtnut.com/l/_VD5YfwxXZ0M5

2. Find the zeroes of the following quadratic
polynomials by factorisation method and verify
the relationship between the zeroes and the

coefficients of the polynomial :

2 + 22z — 6

° Watch Video Solution

3. Find the zeroes of the following quadratic
polynomials by factorisation method and verify

the relationship between the zeroes and the


https://dl.doubtnut.com/l/_Y5iJ0aKj2e7z
https://dl.doubtnut.com/l/_SQDaqM7fakbK

coefficients of the polynomial :

° Watch Video Solution

4. Find the zeroes of the following quadratic
polynomials by factorisation method and verify
the relationship between the zeroes and the
coefficients of the polynomial :

6>+ — 12

° Watch Video Solution



https://dl.doubtnut.com/l/_SQDaqM7fakbK
https://dl.doubtnut.com/l/_WaAEZswOgsA8

5. Find the zeroes of the following quadratic
polynomials by factorisation method and verify
the relationship between the zeroes and the
coefficients of the polynomial :

3v/5

tz—Tt—S

o Watch Video Solution

6. Find the zeroes of the following quadratic
polynomials by factorisation method and verify

the relationship between the zeroes and the


https://dl.doubtnut.com/l/_MvPYs6UYebUO
https://dl.doubtnut.com/l/_sp45HZBn5vWI

coefficients of the polynomial :

22° — (14 2v/2)z + /2

° Watch Video Solution

7.Find a quadratic polynomial each with the given
numbers as the sum and product of its zeroes
respectively :

—4,3

o Watch Video Solution



https://dl.doubtnut.com/l/_sp45HZBn5vWI
https://dl.doubtnut.com/l/_3w927IFy8rHO

8. Find a quadratic polynomial each with the given
numbers as the sum and product of its zeroes
respectively :

—10, 21

° Watch Video Solution

9. Find a quadratic polynomial each with the given
numbers as the sum and product of its zeroes

respectively :

— 42, — 10

° Watch Video Solution



https://dl.doubtnut.com/l/_eqLHq5zSwst8
https://dl.doubtnut.com/l/_w84RdjtBBFDH

10. Find a quadratic polynomial each with the
given numbers as the sum and product of its

zeroes respectively :

—2/7, —21

° Watch Video Solution

11. Find a quadratic polynomial each with the given
numbers as the sum and product of its zeroes
respectively :

1, — 20

‘ ° Watch Video Solution


https://dl.doubtnut.com/l/_w84RdjtBBFDH
https://dl.doubtnut.com/l/_G4aSkeIX6g5q
https://dl.doubtnut.com/l/_08bFhvCz2YC3

12. Find a quadratic polynomial each with the
given numbers as the sum and product of its

zeroes respectively :

—64/3, 15

° Watch Video Solution

13. If « and B are the zeroes of the polynomial

p(z) = 92 + 9z + 2, find the value of o + 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_08bFhvCz2YC3
https://dl.doubtnut.com/l/_2kgOkiPBpMkk
https://dl.doubtnut.com/l/_av3cZzLc6Q0o
https://dl.doubtnut.com/l/_ZdhWR7zHzXF9

14. Form a quadratic polynomial whose zeroes are

7+ 45 and 7 — /5.

o Watch Video Solution

15. If the sum of zeroes of the polynomial
p(z) = (a — 1)z* + (2a — 6)z + (3a — 18) is —1

, find the product of its zeroes.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZdhWR7zHzXF9
https://dl.doubtnut.com/l/_gphRaR9FBiZE

16. If the zeroes of the polynomial 2% + px + g are
double in the value of the zeroes of 222 — 9z + 4,

find the values of p and q.

o Watch Video Solution

17. Obtain all the zeroes of 62> — 1722 + 152 — 4

1
given that one of its zeroes is bR

° Watch Video Solution



https://dl.doubtnut.com/l/_pfBCuGSRByD9
https://dl.doubtnut.com/l/_Jb1ub1PgR5ye

18. Check whether 22 + 2z + 2 is a factor of

z* — 23 — 322 — 42 + 2 or not.

° Watch Video Solution

19. What must be subtracted from the polynomial
p(z) = > + 132> + 352 + 50, so that the
resulting polynomial is exactly divisible by

g(z) =z + 11z + 10?

o Watch Video Solution



https://dl.doubtnut.com/l/_vJpf4TlIKxNa
https://dl.doubtnut.com/l/_K2DzCk3XKpw8

20. Find all the zeroes of the polynomial

3z* — 1522 + 1722 + 52 — 6 if two of its zeroes

1 1
are —— and —.

V3 V3

° Watch Video Solution

Objective Questions

1. Fill in the blanks so as to make each of the
following statements true :

The zero of linear polynomial p(z) = 3x + 2



https://dl.doubtnut.com/l/_LQyz7nJJ8H0X
https://dl.doubtnut.com/l/_7XRaZZJsbVxE

I ) Watch Video Solution

2. Fill in the blanks so as to make each of the
following statements true:
The product of the zeroes of quadratic polynomial

p(z) = 2% — Tz + 12is.......

° Watch Video Solution

3. Fill in the blanks so as to make each of the
following statements true :
The sum of zeroes of «cubic polynomial

p(z) = 22° — 17z + 38z — 15is........


https://dl.doubtnut.com/l/_7XRaZZJsbVxE
https://dl.doubtnut.com/l/_vKuJs3hYFEFO
https://dl.doubtnut.com/l/_0os09JGi5X0U

o Watch Video Solution

4. Fill in the blanks so as to make each of the
following statements true:
If 3 one of the zeroes of polynomial

p(z) = 2° + 32 + kx — 24, then k=.......

° Watch Video Solution

5. Fill in the blanks so as to make each of the

following statements true:

If the sum of zeroes and the product of zeroes of


https://dl.doubtnut.com/l/_0os09JGi5X0U
https://dl.doubtnut.com/l/_NInPH7XiQeI7
https://dl.doubtnut.com/l/_MMFqcdJ3bEkA

the polynomial p(z) = 2* + (k — )z + (k + 1)

are equal, then k=..........

° Watch Video Solution

6. Answer each question by selecting the proper
alternative from those given below each question
so as to make the statement true:

The number of zeroes lying between —1 and 1 of


https://dl.doubtnut.com/l/_MMFqcdJ3bEkA
https://dl.doubtnut.com/l/_K61iUbrvhZ5r

the polynomial p(x), whose graph is given, is...........

.
A

\ y=plxl

|
T o e S
-3 —E‘R—y [ .,:." 2 3

A4

B.3

C.2

D.1

Answer: C

f  _


https://dl.doubtnut.com/l/_K61iUbrvhZ5r

| o Watch Video Solution

7. Answer each question by selecting the proper
alternative from those given below each question
so as to make the statement true:

The quadratic polynomial for which the sum and

product of zeroes are 4 and 4 respectively is..........

Ax?— 4z — 4
B.z2 + 4z + 4
C.z?+ 4z — 4

D.z2 — 4z + 4


https://dl.doubtnut.com/l/_K61iUbrvhZ5r
https://dl.doubtnut.com/l/_cJ63vFOGDp8N

Answer: D

o Watch Video Solution

8. Answer each question by selecting the proper
alternative from those given below each question
so as to make the statement true:

The quadratic polynomial whose sum and product

of zeroes are — 3 and 2 respectively is........

A z?+ 3z +2

B.z2 — 3z — 2

C.z?+2z+3


https://dl.doubtnut.com/l/_cJ63vFOGDp8N
https://dl.doubtnut.com/l/_coJN2IHCVFw8

D.z2 — 2z — 3

Answer: A

o Watch Video Solution

9. Answer each question by selecting the proper
alternative from those given below each question
so as to make the statement true:

The quadratic polynomial with zeroes 5 and 3


https://dl.doubtnut.com/l/_coJN2IHCVFw8
https://dl.doubtnut.com/l/_hiTbK8KMlm9y

B.z? + 8z + 15

C.z2+ 8z — 15

D.z2 — 8¢ — 15

Answer: A

o Watch Video Solution

10. Answer each question by selecting the proper
alternative from those given below each question
so as to make the statement true:

If a,8 and ~ are the zeroes of the cubic


https://dl.doubtnut.com/l/_hiTbK8KMlm9y
https://dl.doubtnut.com/l/_a28RKWy1d5Bs

polynomial ax’ + bz + cx +d, then
1 1 1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_a28RKWy1d5Bs

11. Answer each question by selecting the proper
alternative from those given below each question
so as to make the statement true:

If a,8 and ~ are the zeroes of the cubic

polynomial az’® + bx? + cx + d, then
1 N 1 N I
of "By T e T
b
A —
d
b
B. — —
d
c
C. —
d
c
D. ——
d

Answer: A


https://dl.doubtnut.com/l/_NbZDk1gVjPvb

o Watch Video Solution

12. Answer each question by selecting the proper
alternative from those given below each question
so as to make the statement true:

The zeroes of the polynomial z? 4+ 2z — 15

A.3and 5
B.—3 and —5
C.3 and —5

D.—3 and 5


https://dl.doubtnut.com/l/_NbZDk1gVjPvb
https://dl.doubtnut.com/l/_kS4epEVhrJYW

Answer: C

o Watch Video Solution

13. Answer each question by selecting the proper
alternative from those given below each question
so as to make the statement true:

If o and B are the zeroes of polynomial

1 1
p(z) = 62° —7w—3then—+§ = e

Al
6
5. L
3

7
C.——


https://dl.doubtnut.com/l/_kS4epEVhrJYW
https://dl.doubtnut.com/l/_axMrce4BRcuU

Answer: C

o Watch Video Solution

14. Answer each question by selecting the proper
alternative from those given below each question
so as to make the statement true:

For the cubic polynomial
p(z) = 2> —z® — 17z — 15, the sum of the

products of zeroes taken two at a time is..........

A —15


https://dl.doubtnut.com/l/_axMrce4BRcuU
https://dl.doubtnut.com/l/_CmnR9bUeGHHi

B. —17

Answer: B

o Watch Video Solution

15. Answer each question by selecting the proper
alternative from those given below each question
so as to make the statement true:

If the zeroes of quadratic polynomial


https://dl.doubtnut.com/l/_CmnR9bUeGHHi
https://dl.doubtnut.com/l/_XDARxW1f9hia

p(z) = 6z® — 13z +3m — 9 are reciprocal of
each other, then m=..............

A.6

B. 15

C.5

D. 2

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_XDARxW1f9hia

16. Answer each question by selecting the proper
alternative from those given below each question
so as to make the statement true:
The zeroes of polynomial z* 4+ 99z + 127 are......
A. both positive
B. both negative

C. equal

D. having opposite signs

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_1EGIqFLwE5MG

17. Answer the following by a number or a word or
a sentence:
What is the sum of the zeroes of the polynomial

z? — 12z + 20?

o Watch Video Solution

18. Answer the following by a number or a word or
a sentence:

Given that one of the zeroes of the cubic
polynomial az® + bz® + cx + d is zero, what is

the product of other two zeroes?

V.


https://dl.doubtnut.com/l/_zolfj2mMATQM
https://dl.doubtnut.com/l/_s8ifeHreQn3p

[ @ Vvvatch Video Solution ]

19. Answer the following by a number or a word or
a sentence:
What is the product of zeroes of the cubic

polynomial p(z) = z° + 5% — 2z — 24?

° Watch Video Solution

20. Answer the following by a number or a word or
a sentence:

Can z? —1 be the quotient on division of


https://dl.doubtnut.com/l/_s8ifeHreQn3p
https://dl.doubtnut.com/l/_X9XaU1iR6woQ
https://dl.doubtnut.com/l/_W5jjyr38bra5

z% + 22° +  — 1 by a polynomial in x of degree

5?

° Watch Video Solution

21. Answer the following by a number or a word or
a sentence:

If on division of a polynomial p(x) by a polynomial
g(x), the quotient is zero, what is the relation

between the degrees of p(x) and g(x) ?

° Watch Video Solution



https://dl.doubtnut.com/l/_W5jjyr38bra5
https://dl.doubtnut.com/l/_QQjosSFkZGk3

22. State whether each of the following
statements is true or false :

If the graph of a polynomial intersects the x-axis at
only one point, it cannot be a quadratic

polynomial.

° Watch Video Solution

23. State whether each of the following
statements is true or false:

If two of the zeroes of a cubic polynomial are zero,


https://dl.doubtnut.com/l/_S4BdIhOPs5Lj
https://dl.doubtnut.com/l/_jvJlA5CuiLMQ

then it does not have the term with x and the

constant term.

° Watch Video Solution

24. State whether each of the following

statements is true or false :

2 is one of the zeroes of the polynomial

p(z) = z? — 6z + 8

o Watch Video Solution



https://dl.doubtnut.com/l/_jvJlA5CuiLMQ
https://dl.doubtnut.com/l/_3wBrd5777SUZ

25. State whether each of the following
statements is true or false :
5 is one of the zerores of the polynomial

p(z) = 22° — bz — 13z + 30

° Watch Video Solution

26. State whether each of the following
statements is true or false :
If 3 is one of the zeroes of the polynomial

p(z) = 2 — 11z + k, then k= 24.

° Watch Video Solution



https://dl.doubtnut.com/l/_ZrDfkuzG4jnN
https://dl.doubtnut.com/l/_ztXXLZjkpTdt



https://dl.doubtnut.com/l/_ztXXLZjkpTdt

